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1m 0.07 0.07 0.08 0.07 0.06 0.07
‘ ‘ 50cm 0.08 0.10 0.07 0.07 0.08 0.09
92 | LvbhEm INEAR WHhEMHILEFE M/ NER 98108
1m 0.07 0.09 0.06 0.07 0.07 0.08
. . 50cm 0.06 0.08 0.07 0.07 0.08 0.09
93 | L\hET INSERR WhETILEARE Z /IR 9A10H
1m 0.07 0.08 0.07 0.08 0.08 0.09
‘ ‘ 50cm 0.08 0.10 0.07 0.09 0.08 0.09
94 | LvbhEm INEAR WHhEHILFRHF/NER 98108
1m 0.08 0.09 0.07 0.07 0.08 0.09
. . 50cm 0.06 0.07 0.07 0.08 0.08 0.10
95 | L\hET AR LhET AR R 98 10H
1m 0.06 0.07 0.07 0.09 0.09 0.10
o o 50cm 0.07 0.07 0.08 0.07 0.09 0.11
96 | LvbhEm BRI R ERIEFER 98108
1m 0.06 0.06 0.07 0.06 0.09 0.10

X [E12ER[EHFRIEE, TRI0F8A30ANL11ABHIZKELLIMEESRBREMSRE=2V U VRAE (FRFE12E) IITE T HRERR. EOMIZONTIE., HEEWICEHT 5.
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